MTH 162, Quiz #6, Spring 2025 Name

Instructions: Show all work. Use exact answers unless specifically asked to round. Answer all parts of
each question.

1. Prove the identities.

3T .
a. CoSs (7—36) = —SInx

cscx—secx _ cotx—1

cscx+secx - cotx+1

sinf—cos6 cosf-sinf
C. , + =2 —secBHcsch
sin 6 cos6

2. Simplify and/or evaluate cos [tan‘1 G) + cos™?! (— 133)]



Some useful formulas:

sin{fa+b) =sinacosbh +sinbcosa
sin(a —b)=smacosb—smbcos a

cos(a+bh) =cosacosbh—sinasmnb

cos(a—b)=cosacosb+smasinb
tana +tanb

tan(a+b) =
l—tanatanb
tana —tanh
tan(la —h) = ———
l+tanagtanb

sin(%) =x, ’—(1 _ZOSG)

a 1—cosa sina
tan(—) = =

sina 1+cosa

cos(a) cos(d) = %(cos(a + &) + cos{a — b))
sin{a) sin(d) = %(cos(a —b) — cos{a + -’3))

sin(a) cos(d)

%(sin(a + &) + sin(a — b))

cos(a)sin(d) = %(sin(a + &) — sinfa - b))

sin2a = 2sin acos «
cos2a = cos’a — sin’a
= 2cos’a—1
. 2
1 —2sin” «
2tan «
tan2a = 5
1 — tan“ «o
. B 1—cos268
sn"- @ =—
2
" 1+cos26
ey f=———
o
1—cos26
tanf=———"""
1+ cos28
sinA] + sin(B] = Esm(%) CDS(A;B
sinlA] - sin[B] = 2 u:u:us("'a1 ; B ) Sﬁl(%

cos(Ad] + cos(B) = 2 l:l:us( A B ] l:l:us(
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cosfd] - cos[B] = -2 si.n( =
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